

02/06/2019 12:00 PM | Install Ceiling Drape 02/07/2019 10:00 AM | Install Day 2 02/08/2019 08:00 AM | Install Day 3 02/09/2019 12:00 PM | Event 02/10/2019 07:00 AM | Strike PO: Shipping Address: Beverly Hils 114-0001722

424 Productions 8543 Santa Monica Blvd. Unit 11 West Hollywood, CA 90069

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Additions					
	Ivory Gauze Drape - 400' x 12'H	1	\$7,150.00	Т	\$7,150.00
	Champagne Valance - 60'	1	\$250.00	Т	\$250.00
	Chandelier: Santa Fe Iron Large Round	1	\$650.00	Т	\$650.00
	Chandelier: Santa Fe Iron Small Round	2	\$400.00	Т	\$800.00
W THE WAY	Chandelier: Garden Paris With White Flowers 43"	1	\$600.00	T	\$600.00
	Siena Ottoman Rnd	2	\$95.00	T	\$190.00
	Madrid Bar Cart	1	\$315.00	Т	\$315.00
	Munich Barstool White W/rose Gold	3	\$48.00	Т	\$144.00
4	Custom 24" x 18" White Wood	1	\$275.00	Т	\$275.00
			Total Additions		\$10,374.00
lpper Lawn					
	Chandelier: Garden Paris With White Flowers 61"	4	\$900.00	T	\$3,600.00
	Chandelier: Garden Paris With White Flowers 43"	11	\$600.00	Т	\$6,600.00

Description		Qtty	Price		Total
	Perimeter Pullbacks 12' x 42' x 12'H 5'W pullbacks ivory gauze with backing	1	\$1,650.00	T	\$1,650.00
	Perimeter Pullbacks 15' x 25' x 12'H 5'W pullbacks ivory gauze with backing	2	\$1,650.00	T	\$3,300.00
	Full Ceiling Drape 15' x 25' x 12'H ivory gauze with backing	2	\$2,450.00	Т	\$4,900.00
	Perimeter Pullbacks 40' x 115' x 12'H 5'W pullbacks ivory gauze with backing	1	\$5,125.00	Т	\$5,125.00
	Partial Ceiling Drape 40' x 115' x 12'H 5'W ivory gauze with backing	1	\$6,500.00	T	\$6,500.00
	Perimeter Pullbacks 8' x 22' x 12'H 5'W pullbacks ivory gauze with backing	4	\$1,350.00	T	\$5,400.00
	Full Ceiling Drape 8' x 22' x 12'H ivory gauze with backing	4	\$2,150.00	Т	\$8,600.00
	Perimeter Pullbacks 20' x 40' x 12'H 5'W ivory gauze with backing	1	\$1,975.00	Т	\$1,975.00
	Partial Ceiling Drape 20' x 40' x 12'H	1	\$2,550.00	Т	\$2,550.00
	Perimeter Valance - All Tents in ivory	1	\$4,250.00	Т	\$4,250.00
	Bar, Hedge Round (4pc) 16'	1	\$2,800.00	Т	\$2,800.00
	Barback: Round With 3 Plexy Tears white	1	\$350.00	Т	\$350.00
	Barback: Athens White & Gold for specialty stations	3	\$350.00	T	\$1,050.00
	Boston Bar - Framed Mirror 8'L white with gold details	3	\$650.00	T	\$1,950.00
	Straight Barback 8'L - gold	2	\$225.00	Т	\$450.00
7	Aspen Dining Table 8'x48" reclaimed wood for charcuterie station	2	\$350.00	Т	\$700.00
	Aspen Reclaimed Wood Panels	2	\$450.00	Т	\$900.00
	Shelving for Paneling	1	\$650.00	Т	\$650.00
	Naples Sofa 8'L	2	\$475.00	T	\$950.00

Description		Qtty	Price		Total
The state of the s	Naples 6' Sofa	2	\$375.00	Т	\$750.00
	Madrid Coffee Table - 3pc Set gold with marble top	8	\$300.00	Т	\$2,400.00
	Balenciaga Gold Leaf Coffee Table	4	\$250.00	Т	\$1,000.00
	Madrid Accent Table Portrack Gold gold with marble top	8	\$125.00	Т	\$1,000.00
	Madrid Accent Table Giusti Glass Top	4	\$125.00	Т	\$500.00
	Madrid Accent Table Giusti	4	\$125.00	Т	\$500.00
-	Versailles Chair Sophia Linen	4	\$175.00	Т	\$700.00
	Palermo Club Chair - Natural	8	\$175.00	Т	\$1,400.00
	Naples Club Chair	8	\$200.00	Т	\$1,600.00
	Florence Club Chair - Natural	4	\$175.00	Т	\$700.00
	Versailles Vanity Chair With Arms Oatmeal	4	\$125.00	Т	\$500.00
	Siena Ottoman	17	\$95.00	Т	\$1,615.00
	Accent Pillows	86	\$24.00	Т	\$2,064.00
	Prague Stand-up Table Rose Gold	10	\$175.00	Т	\$1,750.00

Description		Qtty	Price	Total
I	Washington Stand-up Table Rose Gold #2	7	\$175.00 T	\$1,225.00
	Boston Dj Facade white with gold	1	\$350.00 T	\$350.00
			Total Upper Lawn	\$82,304.00
Services				
	Installers: Install 6th	6	\$350.00	\$2,100.00
	Installers: Install on 7th	10	\$550.00	\$5,500.00
	Installers: Install on 8th	10	\$550.00	\$5,500.00
	Installers: Saturday AM	4	\$350.00	\$1,400.00
	ADDITIONS: Labor for Saturday AM	9	\$350.00	\$3,150.00
	Installers: Strike on 10th	10	\$550.00	\$5,500.00
	ADDITIONS: Labor for Strike	6	\$550.00	\$3,300.00
	Trucking: 24'L	5	\$350.00	\$1,750.00
	Manager: Onsite for (2) days	1	\$1,000.00	\$1,000.00
	Manager: Design and Layouts	1	\$1,200.00	\$1,200.00
	Certificates: Flame Certs	1	\$950.00	\$950.00
	Supplies: Misc	1	\$1,700.00	\$1,700.00
Please make ch	ecks payable to Revelry, Inc.		Total Products:	\$92,678.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total L	abor/Services/Misc:	\$33,050.00
			Taxes : Discounts:	\$8,804.41 (\$0.00)
Notes			Total:	\$134,532.41
			Payments:	(\$134,532.41)
			Balance:	\$0.00